Calculus 12 Ch. 1: Limits and Rates of Change

. Exercise 1.4 — Practice Problems

a) Find the slope of the tangent line to the parabola: y = 2x — x? at the point (2,0) using
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o ¢) Graph the parabola and the tangent line.
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a) Find the slope of the tangent line to the cubic curve: y = x3 at the point (1, 1) using
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b) Find the equatlon of the tangent line
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Calculus 12 Ch. 1: Limits and Rates of Change

¢) Graph the parabola and the tangent line.
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5. Find the slope in Example 3 (from ﬁ?notes) using Formula 1. A
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a) Find the slope of the tangent lines to the parabola y = x2 + 4x — 1 at the points whose

x — coordinates are: “—ﬁ
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b) Graph the parabola and the three tangents
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For each of the following curves

Ch. 1: Limits and Rates of Change

Use L(‘”\Jf FO‘M«L@ ,I (1[& Fam.u-lcx pa

a) Find the slope of the tangents at the given point
b) Find the equation of the tangent at the given point
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8. Find the equation of the tangent line to the graph of the given function at the given point. N6 GRAPWS
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9. b
a) Find the slope of the tangent line to the parabola y = x? + x + 1 at the general point
whose x — coordinate is a. N
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b) Find the slopes of the tangents to this parabola at the points whose x — coordinates are:
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10.
a) Find the slope of the tangent line to the parabola y = 3x2 + 2x at the point whose

x — coordinate is a
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b) At what point on the parabola is the tangent line parallel to the line y = 10x — 2
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11. Find the points of intersection of the parabolas y = —x and y=1-— Ex
these points the tangent lines to the two parabolas are perpendicular.
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